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8 I MAY ..., I CAN ..

® Let’s read the following sentences :
1)  Tarun can write Enlish. vl 23 .
2)  Nehal cannot speak marathi. ollell a5l 2.
3)  Can you ride a bicycle ? AUl 531 a5l 9l ?
4)  We can use library. GualoL 531 aslut ¢Sl
5)  They can’t go back. %9 asdl «i2ll.

N

Gu-il GelerRUHl vl oy Buus yad s ddludar _ dldl s

q

208 Aslds Baue © ¥ (audl) ‘ar & idl 2 yad |,
Arll M2 sz 2 YAl cannot HAdl can’t (51v2) AuRAY 9.

>l Gurid,

6) May I go out, sir ?

7) May you come here ?

8) It may rain today.

9) May I take your pen, please ?

10) May I help you ?

11) Krina come today.

® U, May gl WRal-R(l ddl [ vtudldl ¥ AdfAddl qadaidl >l yaa © d Ras Qe
Aa(vizrl wed GeleRel gL W U 539 e dHsdl dieosHi oflog Gelerell A1edl @viaal,

®  ~{lA- slel ul Ui Qs oilel i drd HideUMHL Al S3U

An old person can fly
A bird may run fast
A sparrow can’t speak
A dog advise

® Complete the following dialogue using expression properly from the box : (<€ ‘Q&f $31)
(1) 1) You are welcome. 3)  Why can I show ?

2) My new teacher is a noble man. 4)  Sure, Sir.
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Stranger  : Excuse me. can you show me the way to townhall ?
Police : — . Go straight on foot and take a right turn.
Stranger Thank you for help.

Police

Stranger  : How is your teacher at school ?

Police

1) Some grocery 3) How much is jaggery ?

2)  How much 4)  Thank you, madam.

Shopkeeper : What do you wish to buy ?

Ritaben

Shopkeeper : Ok. you will get fresh grocery.

Ritaben

Shopkeeper : Sixtyperkg —____?
Ritaben ;I want two kg. Take this money.
Shopkeeper
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